B/ 2R R Y e RS S
(=)~ ~Z e BB/ EESEY SR LHFESE- T2 (£ 3-1)
D ER

1082k 48 5 spfed %5 # & 5 —

Hi: & 3Ry mk

E B B
B33 A - - - = + -
FERTEFETY &8 20 20 25 25
*~F R~ 6 6 5 5
E AIEZ/FTANGE 1 1 1 1
e 1 1
w5 (4) 4 4 4 4
i i g (24]) 3 3
sz | . :
- pARFE(3) 3 3
Az 6 6
(6) £15(3) 3 3
BEER(2) 2 2
EE BT (3) 3 3 3 3
ERFEALEY &8D) 20 20 25 25
N e A 3 3 3-6 3-6
SEEIHR 7 AR 2 2 3 3
SEL
gy | W Ak ) E 0 22 A AT
BAR & :}’3‘7%% ‘}\AF‘ e S
His (REFAA - ERFLTEH) 1 1 1 1
By F T A & 3 (B) 3 3 4 4
& FHY LR TSR 22-24 22-24 28-31 28-31
NS B oRd v &k 23 23 29 29

CERFGELT AHT 0 3

R x5 Jl%gf}: °



(2)F ~» Em R ATE/F 0 2 EPE Y g 4408 S k- T4 (% 3-2)

R4 E- R

E: 3N
2y 4R . -
hERTATE T Y ok 27 27
* R HE 5 0
2z BN ENER- s 1 1
EE 1 1
s 4 4
o g 3 3
iﬁfﬁ fRE A A 3 3
ke 4 2 4 4
FEE 3 3
EEEMT 3 3
FRYFAEEE Y ) 27 27
HERTLAEBEY S 27 27
B ERGTie s ik (B) 5 5
LR TEEF Y &k 3-6 3-6
FEgY BB TE I 30-33 30-33
(AMB) Ry saE 32 32




